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| Chiice the best answer (qT,)

a.In the following }

410(£0.02) » 0.0030(£0.0001) _ o
187(20.04) 0.0104E7)

(10000 (2)0.0002 (300003 (4)0.0004———csmmeree )
b.The solubility product Ksp for the AgX is 4.0(0. )X 0 The
solubility of AgX in water is 2.0x 10 What is the uncerminey in the
calculated sotubility of AgX in water 7
(0E )02 )03 (@04 { )
¢ Determine the significant figure:

T4 4,020 _
-Ia-ﬂT 0 %48."

(D050 (20.56 (0965 (H0.970 ;
2.Chowee the best answer: (3)73) ‘
aFor determination of waler-hardness (ic., Cax™" md Mg™) with
EDTA, the tation is carried out i 2 buffer-solution of
{1) HOAc-NaAC(pH4.S)  (2) NalLPOJpH4.5)
{3) Cimic acid-NHLOHEPH  (4) NHy-NHCKpH10)
{5) NaOH{pH13} { )

b.The pi of first equivalence poirt for the tibration of 25.0 ml of
* 01000 M maleic acid with 01000 M NaDH is (K)=1.20xi0%

P
-
-

Ky 0621077

(IM.07 QW12 (IR0 472 { )
. What is the ionic srength of a solution that is D.120 M solution of

HNO, sod 0.050 M in NaCl,

(100SM (0.27M (30(20M @020 M—oome—f )
dA certain aqueous sample concpins the following jons at the
listed concentraitony (in M) sodnen (0.10),magnesiom (0.02), zinc
{0.08), nitrate (0.16) and chloside (0.0B). I 100 mi of this
sample are passed through a strong cation exchanger i (he
hydrogen form,
(117 ()24 QP8 @¥]  (S;none of the abaversees )
cA smdent iy determining chloride by the Volhard method and
forgets to add nitraberwens. The errar could came the results o
be

{1)High {2)low (3)the error woadd have no effect
E.Give the reasen For the neunalization tication:
{afhe carboxylic acid need dissolve in ethanol and tirated with
aqueous base,
{b)the amines need tirated in nonaqueous solvents.
(c)the carboxylic acid need titrated in nonagueous solvents,
(dithe amines need dissolve in ethanol and titrated with agueous
base.
(Jab (Zad (be (#)kd { )
gA 06000g sample of 2 pure weak diprotic acid, HA s
dissolved in exactly 30.0ml of water and tirated potentigmetrically,
with 0 100N NaQH, i the volame of titrant which i required to
reach the Ffirst equivalence point is 30.0ml the molecuar weight
{2/mole) of the acid is:
(LB ()50 {3200 (4M400 (Smane of the above
- ¢ )
h.What are the acid-base indicator trangition range 7
{a)pKa (0Kq  (&)pKap
gk (a (3Me $ac { )

3.The zilver ion in 2 25.00 mi sample was cooverted to dicyancargentate(])
ion by the addition of an excess of a solution containing Ni(CN)

—{ )

Ni(CN)L? + 248" — 2Ag(CN), ~ Ni® _
The liberated nickel ion was tirated with 2377 ml of 0.02408 M
EDTA. Calculate the molar concentration of the silver selution. ‘i ‘7; )

VY
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4. FEIOAS TR B IEIEE (photomul tiplier tube) ML EEE (10X -

5. WHEEAFEE PR TR R BB A R ? LRI TR
2 (10%)

5. MIRIANEEEREHE (control chart)BYBFTAR HERETEE (10%) -

7. MIAEWERBORSE RS (qual ity control)FIREFR B (quality assurance)Ry
BEHECER (208 -
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